Discussion Moles 1 74017’ 27, 202

Antroduchlon o
LI

Tod ch'

* Fntroduc hons

A jale&/wnim %. /;t«ft;

Exa.»»p(.c( Stande 4 )

———

T ! x
fx {_ec (-x) d.x’ T © 2 brod =sec )_
U= x / Vv = Ea (x)
du=dx v = seldx

Sa fxfeca)zdw = X -t (Z) ~ftmu<) ol
= X . tenex) +J—2' STy

(ox(Ck)

ji SfC(x)L = X ba2) £ la l(osa)‘ < C



Exawpl.l' 2 (Tn*mducb 1)

/ (Inx)? dx (solution: e — 2)
J1

¢ Male A= ln(»t ==
odu = 21lnud)- ;\td:(—

Pecause the % ag.'a} o  Conced H~

cva} Fane.
flnlx) A = lr\(xl fL 2 (D)% dx

= ln()c) - QJ n(x) dx

A‘a’w‘n u-= lntz) , V= x
= %dx dv = L4~
i fnte =
0So lnvgx - 2 flamde " e
= ll\lx) . "l( /h(x)x J.x_xdz)
= 'z -2z «+ 2x <<
€

Then J‘e ‘m(ﬂt d,(, = ( It =2y 2 « 2 x )/

=(te-2 . +1€) _ (pi0.r)

0

& ¢2




Question:  (Jhich 4 e @Ilocm} on Se Soloeot
laa U~5aobhda o~ TBP?

|) /('().s‘ e da
2 ) /(;_)r cos(4t) dt



EK&MP‘L 2 C ”Cacuf\.ka\)

. ’2{.'. At 2t s(4t
1. /(")f cos(4t) dt (solution: ‘ \Iil( ) — ‘ ((1)()( ) +C)
5!

\

¢
e Both € et cos(ut)  “cqoes Gece andd
%f‘tl’\ wl‘l.“v ﬂtklﬂj &rl.bq,h\'—-s.
= % s(6e) = - & sin(«E) ) gg—‘ —&sia(ee) = =(¢ caJClcé), R,

,i (2 (A (73 24
i € e / %&.’lc = ke

— o all tar “f
Tntroduce I = fcuca.s(&t)o(,b ZCI . b)

€
ei

Y Pack o .

¢ Choox u= cos(t) , v= 3
du = _gsiatitlty  dy = et

T T= o5(&)- Lt - J{ e2C. (~¢sinut ) ole

e*x 2t
=) by *4 [ snce ot

1 Chose (A = Ein(ut) , V= 1e**
du = beosiue) dé | dv = e o,
at at at
/(‘U’\ I = (os (t) e/l -£ ﬂ( Sial4t) - 8/7.. - ';,C : 4(03(@/)0&-)
" / L
—
— . t
=) 1 ‘:ws(qe)fﬁf L Sinlie) 2" — ‘/—jeﬂ- losle) ot

=) .I’WI: (o5 (Gt) e/z t U Sinl k) -e‘“‘ -4 Ttz

a F§ 2
=) SI = (o5 (ut) e/l‘{‘ L Sinlut) -

2t
I= g"_(CoS(qe)e/z ~+ Q:'Alae\-e‘“) + C

J




EXanmple 3 (Qe,fen(-co( ‘IBP>

1
9 - ,'._).l' N . ()2 + 'l;
2. / r’e"da (solution: )
Jo 8
O

( (!

Aedh £8P hree tnes oot chpse u's

0  x22, 2% 2 .



Example ( Tntoduc 1)

Ix Accasz)
\1/2 . » \/—)) = - '
7. / arccos x dx (solution: et et 1)
Jo 0 - “ l..zz
Tabvduce dv = 1dx , V2 x
—I
= Qanre -
Ulaos.(, n cos (x) 1 de = Fe
‘n‘"\ fal‘cm e = QArceosx)-x "f“" olx
d -Il
X 2
FD(‘ —_— J'x. Cldoa;e, (o= (-x / Ju = -dx dx
(i «z'l J_
S _/’E, _J — dw
o m‘li’ - l W arc (os( ) 7{
)
‘f—,‘:w“dw arc (@ (o) =T )

L «PT—\ ‘”
l—x”) “+c

TM\ f;l‘c% (x) dx = (I-ap(cys(x) - l~)cl) /nl
o

/)

_ [ _ 3 - -
= (LX - )-0-1)

A

J
fzmto.stz) dx — :(‘(; -
o

~F

£\




